FET-6 |







H 319.6
63

710 S B K FHIFEALE K (CET -6)
RN E

(Ah b EEBESR LK TI0 AR AL

F &/ OLFEXRFRER FAKX F B OF &

B B XFEEWSNKERXGEAARTA

B E WAL M A FHN O X K F HRA
KA BAE K O £ 4 F F i
O ONEE B F AEH N F KK
EOF OHEE xBE K AR # W KL

9

MR 2B HAER B H BRE ISR

FH4E R OB & K FHL XNEK IRL

% % Ama B W OCAR HFEAR & B

5 & BHER % X FEKR X # B F

IHE IRHEA REKR REX 4R k4

o REAE R R X MmO B gk
BRK AR [

||
N
&b A s éh v -l

S0173650 mEEM A%

MEFEAxBHHERHAE

Scientific and Technical Documents Publishing House

it =



EH 7RS4 B (CIP) #iiE

710 M EREFT RFEHIB AR E IR (CET-0) ML /55 T B % £ 4. dume . Bl 5
AR SCHR H AL, 2008. 11

ISBN 978-7-5023-3133-7

1.7 1. 5 . HE-FHHFERAFEZK-JE V. H319. 6

o = iR A B 454 CIP $diE 2 (2008) 55 161260 5

Ho R & BEESORSGR R

i - JbETE X 15 5 (P ML A FEM) /100038
EBREEBEIE (010051501739

EBEITEERIFE (010)51501720,(010)51501722(f5 &)

HR W E OB IE  (010)51501729

] tit  http://www. stdph. com

® ¥ & B B X

B AR & B ZF E M B

B A K XN RXE

B OME H R EARE

b2 T F FEEASURERMEET 2E&MHERIELH
ER Kl & FIZRARENF AR

RE ( EP ) & 20084 11 A% 1 AREE 1 IRENHI
F A& 787x1092 16 FF

F B 388 T

Ep ¥ 16.75

Ep # 1~8000 Mt

E #  26.00 7T

i

© - hEBLEFE  EELR

W LA B LT AT iR T B 0B U, A R AT A ST

P ARHEAMNAHEARBE LR EABFR(LER);
ZEAFCHBAERARAEMRIL, RERXNARE, B wfl
AL,




AT =

(710 4B R S BEE A Gt SR 4 ) J XU R 5145 o e

AAT R ARG TR 2P , B 20 ~ 40 KGRI, BUBE 80% 408k, 4 2 4%
TR TAERE SRS TS 502 | BRI 2 4 44 K (0 282 , B b 2 K
SR PN G A AT

EARAARER b, A BESHAEEERE TR, WA A 23 fr
RS 9145 710 4 2 BB BIRES , U 88— 25 0 4 IR A 0 Y N 2% iRk 4591 H 41
A RSB I AR B2 TS B R BB SRR (CET - 6) R 5 25 — 640 s
FIEHT, U A RS 5 SR 25 040 SR - 07 9 LS 48 O
S HMEINSE ST VO, e L R B 5 e B (4 £5) B AU I B AT A J% B A S (30
) s BERENEAETER T AN, A O BRI F AL, SRR R B i
WEF AR BB E RN SS,

FEATREUTEA:

— BEFF

BB R AT : B AE O e U ) B AT40 B 5 B MR, S U
SR H, BT T DR B B U ) KX e 2 I AR AP PR | o B T
R A RLRRE S 052 . AKLIRES B T AN S8 R B AL, 7E AR B R %
THEAET 5 R B 52—,

. Eaem

AHERURE A T 35 ST, (A5 7 BRI 26 A 9 P AR 5 7 2R A
HO A BT A BT R T BT S 5 T

= Fs R

REL (0 T T P, P BRSBTS e . ARE %
A R O SCRB D S BT AFAL 2 | B 4 5

FE: ’

1. % BT AE 2 — R MRS S5 , AR

2. AR [T PE PR AE b2 , ML LS SRS , 4 5 SR AR A TR RS i 6] , 1 R
SERTIE] (125 4340) P52 R — 2SI,

3. YIRS — MER, — B B S — TS P %



mEBRR:

N REELRBAR RAARRKGXFHAA AL AE LR, AR Z 52— X
FhAfXAFE EEER R EREESE,

Ve RARTREHARALSHBMREHE. L, B4F) - , A ARMEAS LR KRS
P I BT UHITEARFEERFALAABLARAGBA SR — REL
KEEFF ol ey 205, R AR ARARIKITARRARIT!  LEAEHRELES

N BN, ATBIRFEEINBERMARIE ERFAEAXBRKIFOETZAAL, LEXF
ARVERBHESZKG, B EXFANABEZAT AR RFEETARL KRG TR
B e ABRAEAEEET, |

W AEFTHEAATREMN S L, LBABEL, B, it 5 AW E i, H AR+ &
%o

- mE
2008 £ FILRKEF



F—iy BAE(+E)

MIGAE] TaGtiUDTIE:  tsie.s cassion s ssusoie soinssins istessvts sissiocs  srarsers soseaioisiarreie tarastvte aths fssuitnt SofeTa'® waiasess Mstatie & S (1)
Model Test Two --++--- e et e et e e et (12)
Mode]l Test TREEE  «vecwweessmvns suvews susepsasens sowss's sses s eeas G625 EE0S § 4av) 54503 SHEHERRERES (23)
Model Test Four «osvs s comses vosiss cownns sonsns saen ssams sams s 5aess smians uvns 5 50s5p 5080 5usiiios so@eng ¢ (34)
Model Test Five sswmes sovens sowms s sowss sxmnas s sa0ss w58 § 5sh Saseng §09963 S0585 500005 soivis sasion s (45)
Model Test Six.  sswens svsies s samas s sanoe sosoeis soioo s 6asis 5eans s wainss sonens 4renss saems s sosns s seaeme s (56)
Bl “Thomit iemam, i s 5065 ¢ AR 4 mim e sccmmss o s i s st st s (67)
Model Test Eight — oeeeeeeeemmmmnemiiii et (78)
MOAE] Tt INTHE 5nsieinis caivcenis samains o sisis s srnsarsSewsmernis ssrimse sataiints @aiavts 4 sciess Siuisieis's spiisls s SHEN wASHINS HAVAINS & (89)
MOAE] TaGt TEli: v oo sommiwowamnn vemuys wrsms s s SESEs 4583 § S5PEE Sammrei Soioas Heaml seams LRss (100)

FMS ERBH(TE)

Key to Model Test One  =+cesscesssesscsassisnimassnnsseassennassssasnsinneenmenmenssannesenses (111)
Key 10 Model Test TWo  =+cevscesscsscenasaesasnsasrnsenssrmnmrmammnssrenerenssssssenssensssssses (116)
Key to Model Test Three «ccescsscessessoacsnantocanasnarssssannsssansonsennsensessssssrosasssenes (120)
Key to Model Test Four - =s+sesesseesscssmustunerscrsareernssrosnsssestnsssnsessrssssssronsossonne (124)
Key 1o Model Test Five  #s5u55s ioson s cxmmmnnsnes cnmme sommms camwan cxrrevexsws soisnssnss vewess ouies (130)
Key 10 Model Test Six «e«ssnrneeasesnvusmaersurssrrressssrssssssnssenssssssessassssssvassansnssssss (134)
Key to Model Test Sevien =»-==wvs covers smnnssuvers sonss s svuns nssves ehewss evass s omus's S0ms s es st ohens (141)
Key to Model Test Eight «+reeeeeeeeuntmuiriiiiiuiiiiiiiinitiiriiireiieiiietinrieeesernenanans (145)
Key to Model Test Ning s sovves somer sumsonsumas sennss €unss » sasss iasins idsih iiniors sonihs sannsssons (150)
Key to Model Test Tem ««+vcescereessecseneaetioniemnruerueriruerieesresienersessescrsssssserssenns (155)
=M WHEX(+E)
Model Test One  scoctecsserenrontaateneineusententessessersstsessnsonsonsssonsansanssasanssnsnnenns (160)
MOdE]l Test TWO  +evtessosssnrenssaceneasaassanonsssenssonsessesonsensanssnssssssnnsnsssnsnnssnssaes (165)
Model Tt THEEE | 5uus seinsicn oiniars siwmetin asoissisilsteress sresissi weivss ¥ saraiars Saraness sataieiom SRR Sopss aAen s 4 4 (170)
MOAE] Tebit FIOUE  romss sormmiose emiesomis oot siniiosiviass asos s sissrsvls D508’ £43I85 S34MH1 AEHTHS HENIEES 4IRS SN B G818 (174)
MOAE] Tt TFIVE  wooms cmorme cminnis sarmisn's ivrsibis isisibis/éiios shisianss $5/5658 3 S0i558 645610 olilsnsd & 6iwaio Sooiors ot (179)

VI GAE] TERE S = sisimwins sisissi e Somlists e S SR8 37 SAMATRS S50 5 S it Bt vl e (184)



MoOdeE]l TeSt SEVEI +ccvrereeeeetaettttenteatietsseessnsennesssssssesssssseesecssssssssnnesnsonssonses ( 189)

Model Test Eight .................................................................................... ( 193)

Model Test Nine «ccveerseosreetetieieiretioneeteatonssereessossssrssssaossssssssassesssnsissenons (198)

Model Test Ten  «--+--- R L T — > SRR P (202)
SEMES  HMNE SR OFhER)

TR TG« wvnoe cawme s omans savenn vohn Froise o s s s suminn s wod SR s aseis s 55455 o 56inio & aamons aimmroins s msimen (207)

SR EITES:  ancom e o oo sosmmopanivsi' stmbs soounich s ARG crensd S5 e (219)

FRFEPTE oeovereerenvormerormmennniondediedd Uittt iiiensisnnssnmerensnes eenvessensns (233)

FPAVESL -evee- et e e et e e e tee e e et —aeera——aae i aaa e (248)



B BUETE)
Model _Test One

Part | Writing (30 minutes)

Directions : For this part, you are allowed 30 minutes to write a composition entitled Part — Time Job
in 3 paragraphs. You should base your composition on the following outline given in Chinese. Write no
less than 150 words.

Outline ;

1. R ) A A ZE L AR FREHR

2. X FAbRFEIR, AT HFE AR E %

3. R

Part I Reading Comprehension ( Skimming and Scanning) (15 minutes)

Directions : In this part, you will have 15 minutes to go over the passage quickly and answer the ques-
tions on Answer Sheet 1. (

For questions 1 —4 mark

Y (for YES) if the statement agrees with the information given in the passage:;

N(for NO) if the statement contradicts the information given in the passage;

NG (for NOT GIVEN) if the information is not given in the passage.

For questions 5 — 10, complete the sentences with the information given in the passage.

Cancer Care Seeks to Take Patients Beyond Survival
As a growing number of Americans are learning, surviving cancer can mean slipping into a rabbit

hole of long — term medical problems. 5

The realization that cancer and its outcome can go on for years has given rise to a medical spe-

~

cialty known as survivorship. At several major hospitals around the country, survivor programs fi-
nanced by the Lance Armstrong Foundation are focusing on life after cancer.

“It’ s no longer sufficient to say, ‘Well, you survived,’” said Mary S. McCabe, who directs
the program at Memorial Sloan - Kettering Cancer Center in New York. “We need to maximize their
recovery and quality of life. ”

Cancer treatment and research are expanding to incorporate long — term postcancer care. With
the number of survivors up to l@h in the United States, from@ in the 1970s, cancer is
increasingly being treated as a chronic disease, like diabetes(¥#FR#%) or multiple sclerosis( £ &
f#1k). As the presidential candidate John Edwarc’is said in March after his wife, Elizabeth, learned

that her breast cancer had returned and spread, the disease was “no longer curable” but “completely

treatable. ”

—_1 —



At U. C. L. A. Medical Center in Los Angeles, Dr. Patricia A Ganz is helping patients like Ta-
nya Saunders close gaps in their medical care. Staylng healthy has become a full,—-trm&;ob for Ms.
Saunders, who has endured one complication ( FH- & HE) after another in the 15 years since she re-
ceived her diagnosis of Hodgkin’ s disease as a college student.

Radiation and chemotherapy thrust her into menopause ( 4425}]). After a recurrence and a sec-
ond round of treatments, she developed congestive( FEIfiL[#]) heart failure. Last year, the bone tissue
in one of her hips collapsed, forcing her to undergo a hip transplant. Now 36, Ms. Saunders takes 11
medicines a day. She exercises three days a week with other patients, sees a much - loved psycho-
therapist (who is treating her free of charge) once a week and takes pottery and sailing classes. She

lives on disability payments and qualifies for Medicare.
’\

. “It’s a kind of a renewal of spirit I would say I’ m looking for while I try to get my strength
back,” Ms. Saunders said.

Another patient of Dr. Ganz’s, Karen Huner, credits her with diagnosing and treating the hypot-
hyroidism ( F AR IRHLEETEIR ) that was causing exhaustion and headaches months after she was cured
of breast cancer. Other doctors had told her that the symptoms were effects of chemotherapy and that
she should “just get used to it,” said Ms. Huner, a 44 - year - old yoga and pilates instructor.

The potential side effects of radiation and chemotherapy have been known for years, especially a-
mon%surwf_c}ﬂ_(ﬂmgd_c“ance_rs But the big push for awareness and support followed a strongly
worded report in 2005 from the Institute of Medicine, part of the National Academy of Sciences.

“The transition from active treatment to post — treatment care is critical to long — term health,” it
concluded. “If care is not planned and coordinated, cancer survivors are left without knowledge of

their heightened risks and a follow — up plan of action. ” Insurers, it added, “should recognize survi-
_/‘r-:’; -

L}

vorship care as an essential part of cancer care. ”

In the largest study so far of survivors of childhood or adolescent ( & #:1Hf]) cancer, published
last October in The New England Journal of Medicine, researchers documented a high rate of illness
because of ¢hronic_canditions caused by life " saving treatments. The study tracked the health of near-
ly 10,400 adults now in their 20s,30s and 40s who were treated for cancer between 1970 and 1986.

More than 62 percent of those survivors had at Ieast one chronic condltlon nearly 28 percent had
a severe or life — threatening one. The survivors werelmore tharm as likely as their compat-
riots to have a chronic health condition, and women wmman men. Survivors of bone
tumors, central nervous system tumors and Hodgkin’ s disease had the highest risk of a serious chron-
ic condition.

The good news is that almost 80 percent of children and teenagers who get diagnoses of cancer to-
day become long — term survivors. Moreover, treatments have changed to minimize the risks; the low-
est effective doses of drugs and radiation are used. : sl

“The silver lining of this is that we know what to expect in a reasonable amount of the time,”

said Dr. Kevin C. Oeffinger of Sloan - Kettering, a lead author of the report While young cancer pa-

tients are more vulnerable to damage because theg\ organs are still growing, Dr. Oeffinger said, the

study has obvious implications for adults.

Age and type of treatment play a huge role in the experience of cancer survivors, several experts
— A



said. Many experience no side effects at all. Others, especially women of child — bearing age, face
infertility (/N22) and early menopause.

“Qur research shows that younger patients have a harder time, both physically and emotionally,”
said Dr. Ganz, of U. C. L. A“It’ s not something they’ ve expected. ”

At Sloan — Kettering, five social workers are assigned to concentrate exclusively on follow — up
care for survivors. Part of the plan, at Sloan and other cancer centers, is to develop an online data-
base of patient — care summaries — of the cancer treatment received, the potential risks and recom-
mended follow — up care — that could be used by any physician.

The hospital also plans to open an off — campus outpatient( [ ]i2J% A ) center devoted to cancer
survivors’ physical recovery, in part with a donation from the media entrepreneur, Robert F. X. Sill-
erman, who was treated at Sloan — Kettering six years ago for tongue cancer. He received chemothera-
py and radiation and later began to suffer pain and muscle spasms(2ZE) in his shoulders and back,
as well as increasing weakness in his left arm.

Today, Mr. Sillerman said, he has reversed the damage with atl?ttle bit of medication and a lot

of physical therapy. He exercises six days a week with weights, bands and manual resistance, partly
with a personal physical therapist whom he puts up in a Manhattan townhouse adjoining his family’ s.
He said he appreciated the fact that few have the same luxury.

“I was two years out from my cure before I was able to find the right treatment,” said Mr. Siller-
man, 59. “Our hope is to eliminate that and provide access to recovery right away, initially in the
New York metropolitan area and eventually to make that a model nationally. ”

For premature menopause in patients who can safely use estrogen ( % ), Dr. Mercedes
Castiel likes to give teenagers and young women birth control pills to control hot flashes and bone loss.
“It’ s nicer to say I’ m on the pill like my peers instead of hormones like my grandmother,” said Dr.

; d Castiel, director of the Barbara White Fishman Women’s Health Center at Sloan.
|

—

Questions ; \
1. The emergenée of survivorship is due to that cancer and its outcome can go for years.
XZ. The number of cancer survivors now in the United Stated is ovsvr_,ﬁ.,,.timgs. as many as the ones in the
1970s.
M Though Ms. Saunders is a cancer patient, she still has a job and lives on her salary.
f\/ﬁll Ms. Saunder exercises three days a week because she believes that she can conquer cancer and re-
cover from it. :
5. Karen Huner was told what she should do was to “mm" after she had the symptoms of
effects of chemotherapy. 7- ' b
6. The side effects of radiation and chemotherapy are most obvious among
7. The Institute of Medicine;thought the essential part of cancer care was

8. The survivors’ probability to have a chronic health condition was as as that of their com-
B

" patriots.

9. The reason why yong cancer patients are more vulnerable to damage is that

10. The methods Mr. Sillerman used to reverse the damage are

el 3



Part 1 Listening Comprehension (35 minutes)

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conwersations. At the end of
each conversation, one or more questions will be asked about what was said. Both the conversation and
the questions will be spoken only once. After each question there will be a pause. During the pause, you
must read the four choices marked A) , B), C) and D), and decide which is the best answer. Then
mark the corresponding letter on Answer Sheet 2 with a single line through the center.

11.A) 7: 30 B) 7: 45 C) 7: 00 D) 8: 00
12. A) Away for the summer. B) Skiing.
C) To the beach for the day. D) Picnicking in the woods.
13. A) Daughter and father. B) Client and lawyer.
C) Patient and doctor. _ D) Athlete and coach.
14. A) Mow the lawn. B) Wash the car.
C) Exercise in the sun. D) None of these.
15. A) She thinks Mary is a thief. B) She thinks Mary is stupid.

C) She thinks Mary is honest, but capable of making a mistake.
D) She is suspicious of Mary.

16. A) Strangers. B) She is interviewing for a job.
C) Old friends who haven’t seen each other for a while.

D) She has been flying for two years.

17. A) In an elevator. B) At the dentist’ s.
C) In a laundromat. D) At a discotheque.
18. A) He was five feet tall. B) He had only one foot.

C) He didn’t do his school work very well.

D) He was in poor health.
Questions 19 to 22 are based on the conversation you have just heard.
19. A) He wants to ask the student to come to class.

B) He wants to have a serious talk with the student.

C) He wants the student to give him a reason for his missing.

D) He wants to take him to the police.

20.A) 6 B) 8 : C) 14 D) A few times
21. A) The class is funny. B) Call his father.
C) The class is interesting. D) The class is ridiculous.
22. A) Call the police. B) Call his father.
C) Fax his father. D) Fax the police.
Questions 23 to 25 are based on the conversation you have just heard.
23.A) 2 years B) 3 years C) 5 years D) 10 years

24. A) Because he had married one of his colleagues.
s ol



B) Because he loved his present job very much.

C) Because he was too busy at work. D) Because he did nothing but his job.
25. A) To stay at home with his family. B) To go on a biking trip around Europe.

C) To make more money for his family. D) To go back to school to study drama.
Section B

Directions In this section , you will hear 3 short passages. At the end of each passage,you will hear
some questions. Both the passage and the questions will be spoken only once. After you hear a question,
you must choose the best answer from the four choices marked A) , B) , C) and D). Then mark the cor-
responding letter on Answer Sheet 2 with a single line through the center.
Passage One
Questions 26 to 29 are based on the conversation you have just heard.
26. A) Because they have a driving license.
B) Because they have received special training .
C) Because the traffic conditions in London are good.
D) Because the traffic system of the city is not very complex.
27. A) Two to four months. B) About three week§.
C) At least half a year. D) Two years or more.
28. A) Government officers are hard to please.
B) The learner has to go through several tough tests.
C) The learner usually fails several times before he passes it.
D) The driving test usually lasts two months.
29. A) They don’ t want their present bosses to know what they’ re doing.
B) They want to earn money from both jobs.
C) They cannot earn money as taxi drivers yet.
D) They look forward to further promotion.
Passage Two
Questions 30 to 32 are based on the conversation you have just heard.
30. A) Because all the people can enter it at any time.
B) Because it opens fulltime all day.
C) Because all its students are mother of families.
D) Because students don’t have to pass entrance examinations.
31. A) It is the same as an open university. B) There are no teachers.
C) Students are taught on radio and television.
D) Students and tutors should meet and study together for several weeks.
3. A) 36Weeks B) 4Weeks C) 3weeks D) Sweeks
Passage Three
Questions 33 to 35 are based on the conversation you have just heard.
33. A) Animals lived in cages made of concrete iron bars.
B) Trees and grass grew in the cages.

e 1§



C) Steams of water flew through the cages.

D) There was a deep ditch in the cage.
34. A) Because the zoo keeper did not take good care of them.

B) Because the animals were not fed well.

C) Because the environment was anything but natural.

D) Because the cages were too dirty.
35. A) Animals lived in more natural environment .

B) Several species of animals live together.

C) A deep ditch filled with water surrounds the area where animals live instead of iron bars.

D) All of the above.
Section C
Directions: In this section, you will hear a passage three times. When the passage is read for the first
time , you should listen carefully for its general idea. When the passage is read for the second time, you
are required to fill in the blanks numbered from 36 to 43 with the exact words you have just heard. For
blanks numbered from 44 to 46 you are required to fill in the missing information. For these blanks ,you
can either use the exact words you have just heard or write down the main points in your own words. Fi-
nally, when the passage is read for the third time, you should check what you have written.

Hungry for the brightest students, many of the country’ s stronger universities are (36)
discounting tuition. And it’ s the high achieves, rather than the needy (37) ‘ , who are get-
ting a good chunk of the money. The practice is remarkably widespread, (38) almost all
but the 30 or so ivy league and other elite (39) that ban merit — based financial aid. School
_ are also becoming more aggressive in (40) their discounts. At the Depaul University Web-
site, enter an SAT or ACT score, grade point average and class rank, and a computer program imme-
diately tells you what kind of “award” you can receive. Only “the truly (41) ” pay full
price any more, says Kenneth Bush, director of research at the National Association of Students Fi-
nancial Aid Administrators. About 76% of first — year students got some form of discount this year at
331 private schools polled (42) by the National Association of College and University
Business Officers. Average award per student: $7,000. At small schools with tuition ('43)

about $20,000, (44)

Carnegie Mellon even tells students it will “negotiate” and perhaps match financial — aid packa-

ges if kids are offered bigger awards at other schools. Much as banks and insurers offer special rates to
their best customers, (45)

The flip side of big discounts is that less money is available to improve academic programs and

keep the school infrastructure up to date. Mr. Bush says he found that (46)

; , and that’ s true even among highly selective schools.
“They get the students in the door but don’ t have the services to keep them " he says.

— 6 —



Part [V Reading Comprehension( Reading in Depth) ( 25 minutes)

Section A _

Directions: in this section, there is a short passage with 5 questions or incomplete statements. Read the
passage carefully. Then answer the questions or complete the statements in the fewest possible words.
Please write your answers on Answer Sheet 2.

Questions 47 to 51 are based on the following passage.

Men cannot manufacture blood as efficiently as women can. This makes surgery riskier for men.
Men also need more oxygen because they do not breathe as often as women. But men breathe more
deeply and this exposes them to another risk. When the air is polluted, they draw mor%zm

“Tungs.

A more recent and chilling finding is the effect of automobile and truck exhaust fumes on chil-
dren’ s intelligence. These exhaust fumes are the greatest source of lead pollution in cities. Research-
ers have found that the children with the highest concentration of lead in their bodies have the lowest
scores on intelligence tests and that boy’s score lower than girls. It ¥ possible that these low scores
are connected to the deeper breathing that is typical of the male.

Men’ s bones are larger than women’ s and they are arranged somewhat differently. The feminine

walk Yhat evokes so many whistles is a matter of bone structure. Men have broader shoulders and a
naawlvi& which enables them to stride out with no waste motidd.” A woman’ s wider pelvis, de-
signed for childbearing, forces her to put more movement into each step she takes with the result that
she displays a bit of a jiggle and sway as she walks.

If you think a man is brave because he climbs a ladder to clean out of the roof gutters, don’ t for-
get that it is easier for him than for a woman. The a_ngle at which a woman’ s thigh is joined to her

knees makes climbing awkward for her, no mattér whether it is a ladder or stairs or a mountain that

she is tackling.

47. A proper topic for this Passage may be MMMI{'S M’V/@M/ wmen LMA Wermen .
1

48. Men suffer more from air pollution because they

49. What makes men’ s walking different from women’s?

50. As far as body structures are concerned, LML face more danger in climbing

mountains.

51. How many differences between men and women are mentioned in this Passage?

Section B

Directions : There are 2 passages in this section . Each passage is followed by some questions or unfin-
ished statement. For each of them there are four choices marked A) ,B) ,C)and D): You should decide
on the best choice and mark the corresponding leiter on Answer Sheet 2 with a single line through the

center.



Passage One
Questions 52 to 56 are based on the following passage.

The most impressive of Upper Palaeolithic artworks are the cave paintings of Spain and southern
France, where walls were covered with the forms of animals, some small, some as big as 20 feet in
length. These were painted with mineral oxide pigments, the main colors being black, red, and
yellow. At Lascaux Cave, large bulls were painted, outlined in black,but there were m,
shade figures with more subtle colors such as layender and mauve. Blue and green do not appear, al-
tough it is possible that the artists used such colors of organic origin which have since disintegrated.
The colors which remain are still fresh and clear.

The pigments seem to have sometimes been used solid as pastels, sometimes mixed with water or
grease. They were mostly applied directly with the “fingers, or in some instance, applied with Some
kind of brush. In some cases, it looks as though the paint may have been blown through a bone tube,
for some of the animals have vague, fuzzy outlines, reminiscent of Chinese wash drawings. Hollow
bones filled with ocher have been found in the caves. Shoulder blades of large animals have also been
found, stained wm;}, as well as naturally hollowed stanes rﬂt_aini_nigi_gﬂents. These were prob-
ably mortars in which mineral oxides were crushed and ground.

The animals are not depicted in settings or landscape, palnts are seldom shown. Earlier observ-
ers were struck by the seeming absence of composition. For example, a later animal figure is some-
times superimposed over an earlier one. But there is some degree of composition, as in some of the
groupings at lascaux. '

The animals are drawn-with skill, showing good anatomical observation. There is no doubt about
which animals were meant to be shown. However, the drawings are not always complete. Legs and
belly lines were sometimes left out. Sometimes natural features of the rock were utilized in the paint-
ing, so that an outward bulge of rock, for example, was turned into a horse’ s flank.

Human figures are seldom shown in the cave art. When they appear, they are sometimes stick

figures, _légkin the close observation and accuracy of the animal drawings. When men are depicted

they often wear animal masks or have animal heads.

Some of the large animal figures, such as the bulls of Lascaux, 13 and 16 feet long, must have
involved a lot of work and perhaps the cooperation of several men. Some figures on the ceilings of ca-
ves suggest that scaffolding was erected. So these must have been serious projects involving some
group planning and cooperation.

52. All of the following colors are included in the cave paintings in spain and france, except

(
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~ A) yellow . ) Klue C) lavender D) black "\
53. Most of the times the pigments were applied with
\y/ figures %qu B) bone tubes C %mshes D) sticks
54. “Ocher” is most probably a kind of
\Q)Aint B) stone C) bone D) tool

about early cave animal paintings?
—

55. Which of the following statements is ‘tLu



e”

A) The animals are usually depicted in nature settings.
B) TheAnimals are usually depicted with human forms
C e animal drawings show good anatomical observation.
D) The animal drawings were always complete.
56. When human figures are shown in the cave art ,they
A) are always stick figures N
B) eften wear animal masks
) are depicted with the same accurate observations ' i
D) seem to involve group collaboraton.
Passage Two
Questions 57 to 61 are based on the following passage.

Scientists claim that air pollutien-causes a decline in the world’ s average air temperature. In or-
der to prove that theory, ecologists have turned to historical data in relation to especially huge volcanic
eruptions. They suspect that volcanoes affect weather chapges that are similar to air pollution.

One source of information is the effect of the eruption of Tambora, a volcano in Sumbawa, the
Dutch East Indies (the former name of the Republic of Indonesia) , in April 1815. The largest recor-
ded volcanic eruption, Tambora threw 150 million tons of fine ash into the stratosphere The ashwfrom
a volcano spreads worldwide in a few days and remains in the air for years. Its effect is to turn incom-

ing solar radiation into space and thus cool the earth. For example, records of weather in Engla'nd
show that between "\pril and November 1815, the average temperature had fallen 4.5°F. During the

next twenty-four months, England suffered one of the coldest periods of its history. Farmers’ records

from April 1815 to December 1818 indicate frost throughout the spring and summer and sharp decrea-

ses in crop and livestock markets.Since there w lag of several years betweep cause and
effect, by the time the world agricultural commedity cemmunity had deteriorated, no one realized the

cause.

Ecologists today warn that we face a twofold menace. The ever-present possibility of volcanic e-
ruptions, such as that of Mr. St. Helens in Washington, added to man’ s pollution of the atmosphere
with oil, gas, coal, and other polluting substances, may bring us increasingly colder weather.

57. According to the passage, the effects of Tambora’ s eruption were
A) of several aays * duration worldwide
B) fcht mainly in the Dutch East Indies
\..()/;:dent in the decreased world temperature
D) immediately evident to the world’ s scientists
58. Which of the following was the cause of cold weather in England from 1815 to 18187
A) England s proximity to the North Sea. e ——
By Volcanic ash in the atmosphere.
) Floodings in the area.
D) Pollution caused by the International Revolution.
59. No one realized the cause to the deterioration of the world agricultural commodity market bécause
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